
BSHF-101/FHS-1 

BDP/BCA/BTS 

Term-End Examination 

June, 2015 

FHS-1. : FOUNDATION COURSE IN HUMANITIES 

AND SOCIAL SCIENCES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer any two questions from DCQ and any four 
questions from MCQ. Q. No.13 is compulsory. 

Descriptive Category Questions (DCQ) 

Answer any two of the following questions in around 
500 words each. 

1. Discuss the main features of the feudal system 
in Europe. What led to its decline ? 	 20 

2. Explain the role of education in promoting social 
change. 	 20 

3. Examine the ideas and values developed during 
the Indian National Movement. 	 20 

4. Discuss the significance of Directive Principles of 
State Policy in the Indian Constitution. 	20 
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Middle Category Questions (MCQ) 

Answer any four of the following questions in around 
250 words each. 

5. What made Independent India adopt the policy 
of Secularism ? 	 12 

. Discuss the various approaches to tribal 
development in India. 	 12 

7. Examine the causes and consequences of the 
Revolt of 1857. 	 12 

8. Discuss the main factors that have affected the 
functioning of the Panchayati Raj Institutions in 
India. 	 12 

9. Highlight the main features of Slavery in 
Graeco-Roman World and in India. 	 12 

10. Suggest the measures for strengthening the 
Public Distribution System in India. 	 12 

11. What is Market Failure ? Briefly discuss the 
weaknesses of the free market economy. 	 12 

12. Discuss the consequences of the nuclear winter. 	12 
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Short Category Questions (SCQ) 

13. Write short notes on any two of the following in 
around 100 words each : 	 6+6=12 

(a) Congress Ministries between 1937 — 39 

(b) Process of Sanskritization 

(c) Mixed Economy 

(d) Greenhouse Effect 
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